

Republic of the Philippines Department of Health JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., STA, CRUZ, MANILA 711-9491 local 245

NOTICE OF AWARD

04 January 2019

JERR MARKETING

1948 Unit A, Tomas Mapua St.,

Sta. Cruz, Manila

Tel#: 253-3768/495-0902/254-0412

Dear Sir/Madame:

We are happy to notify you that your Bid for the procurement of Various Laboratory Supplies in the amount FIVE HUNDRED FIFTY SEVEN THOUSAND NINE HUNDRED SIXTY PESOS (P557,960:00) only, as corrected and modified in accordance with the Instructions to Bidders is hereby accepted:

Item No. Item Description		Brand/Country of Origin	QTY.	UNIT	UNIT PRICE (PhP)	TOTAL PRICE (PhP)
24	Bone Decalcifier Offer: Osteomoll, 1 Li	Merck / Germany	39	liter	8,900.00	267,000.00
61	Filter, Paper, 150 mm or 125 mm Offer: 125mm, 100 pcs/box	Whatman / US	1200	piece	13.90	16,680.00
√ 87	Mannitol Salt Agar 500g /bottle granules or powder Offer: Granulated	Merck / Germany	6	bottle	3,490.00	20,940.00
Ŋ 121	Salmonella Shigella Agar 500g/bottle powder or granules Offer: Granulated	Merck / Germany	ì	bottle	4,980.0h	4,980.00
123	Sealer, Capillary Offer: Wax plates	Vitrex / Denmark	24	piece	145.00	3,480.00
125	Sheep's blood, sterile, defibrinated, 100 ml/bottle	Local	12\	bottle	1,000.00	12,000.00
ų 146	Triple Sugar Iron 500g/bottle, crystal or powder Offer: Granulated	Merck / Germany	1	bottle	4,450.00	4,450.00
148	Trisulfate Citrate Bile Sucrose (TCBS) 500g powder or granules Offer: Granulated	Merck / Germany	ì	bottle	5,950.00	5,950.00





Department of Health JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

Republic of the Philippines

RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

Item No.	Item Description	Brand/Country of Origin	QTY.	UNIT	UNIT PRICE (PhP)	TOTAL PRICE (PhP)
161 N	Wright's-Giemsa 3x500mL., in kits with methanol as fixative, thiasine/methylene blue/ azure as basic dye, eosin as acidic dye, buffer solution Offer: Hemasolor staining kit, 3 x 500ml/kit	Merck / Germany	36	kit	6,180.00	222,480.00
		GRAND TOTAL				557,960.00

Note: Ordering of the above-mentioned item depends on the needs of the patients

You are hereby required to provide within **three (3) working days** the performance security in the form of cash or cashier's/manager's check or bank draft/guarantee or irrevocable letter of credit or surety bond. Failure to provide the performance security shall constitute sufficient ground for cancellation of the award.

Very truly yours,

EMMANUEL F. MONTAÑA, IR., MY, FPCS, FACS, MHA

Medical Center Chief II

Conforme:

Date: OIA IT TOO IO

Rich Ferah



JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAE AVE., STA. CRUZ MANILA, 711-9491 loc. 245

HBAC-A RESOLUTION NO. 0003 s. 2019

BAC Resolution Declaring LCRB & SCRB Recommending Award To JERR MARKETING

WHEREAS, the <u>JOSE R. REYES MEMORIAL MEDICAL CENTER</u> posted the Invitation to Bid for the procurement of Various Laboratory Supplies at the G-EPS and a conspicuous place at the premises of the <u>JOSE R. REYES MEMORIAL MEDICAL CENTER</u> continuously for 14 days:

WHEREAS, a public bidding for the following items was held last 26 October 2018:

Item No.	Description	Quantity	Unit	Unit Price	Total ABC
24	Bone Decalcifier	30	liter	9,100.00	273,000.00
61	Filter, Paper, 150 mm or 125 mm	1200	piece	14.00	16,800.00
87	Mannitol Salt Agar 500g /bottle granules or powder	6	bottle	3,500.00	21,000.00
121	Salmonella Shigella Agar 500g/bottle powder or granules	1	bottle	5,000.00	5,000.00
123	Sealer, Capillary	24	piece	150.00	3,600.00
125	Sheep's blood, sterile, defibrinated, 100 ml/bottle	12	bottle	1,000.00	12,000.00
146	Triple Sugar Iron 500g/bottle, crystal or powder	1	bottle	4,500.00	4,500.00
148	Trisulfate Citrate Bile Sucrose (TCBS) 500g powder or granules	1.	bottle	6,000.00	6,000.00
161	Wright's-Giemsa 3x500mL., in kits with methanol as fixative,		kit	6,200.00	223,200.00

WHEREAS, in response to the said advertisements, seventeen (17) bidders purchased bidding documents but only sixteen (16) bidders submitted bid proposal, were found eligible and passed the preliminary examination of bids last 26 October 2018;

WHEREAS, three (3) bidders submitted their bid proposal on the item below, were found eligible and passed the preliminary examination of bids last 26 October 2018;

WHEREAS, the detailed evaluation of bid was completed and received by BAC Secretariat on 21 December 2018 resulted in the following based on the product demonstration:

Item No.	Description	QTY	Unit	Name of Bidder	"Bid Price (As Calculated)	% Variance from ABC
	Sealer, Capillary		piece	Jerr Marketing	145.00	3.33
123		24		Trulaboratories	147.25	1.83
				Biosite Medical	150.00	





JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., STA. CRUZ MANILA, 711-9491 loc 245

WHEREAS, two (2) bidders submitted their bid proposal on the item below, were found eligible and passed the preliminary examination of bids last 26 October 2018;

WHEREAS, the detailed evaluation of bid was completed and received by BAC Secretariat on 21 December 2018 resulted in the following based on the product demonstration:

WHEREAS, the bid proposals of Biosite Medical Instruments for items no. 87, 121, 146, & 148 were post-disqualified due to non-submission of sample within the prescribed number of days after the receipt of the notice;

WHEREAS, the bid proposal of Medical Center Trading Corporation for item no. 161 was post disqualified due to non-compliance with the specification required;

Item No.	Description	QTY	Unit	Name of Bidder	Bid Price (As Calculated)	% Variance from ABC
88	Mannitol Salt Agar	- 2	7 742	Biosite Medical	3,300.00	5.71
87	500g /bottle granules or powder	6	bottle	Jerr	3,490.00	0.29
121	Salmonella Shigella Agar 500g/bottle	1	bottle	Biosite Medical	3,800.00	24.00
121	powder or granules	3	portie	Jerr	4,980.00	0.40
146	Triple Sugar Iron 500g/bottle, crystal	1	bottle	Biosite Medical	3,800.00	15.56
140	or powder			Jerr	4,450.00	1.11
9.79A	Trisulfate Citrate Bile Sucrose (TCBS) 500g powder or granules	1	bottle	Biosite Medical	4,800.00	20.00
148		T		Jerr	5,950.00	0.83
	Wright's-Giemsa 3x500mL, in kits		kit	МСТС	4,500.00	27.42
161	with methanol as fixative, thiasine/methylene blue/ azure as basic dye, eosin as acidic dye, buffer solution	36		Jerr	6,180.00	0.32

WHEREAS, one (1) bidder submitted their bid proposals on the items below, was found eligible and passed the preliminary examination of bids last 26 October 2018;

WHEREAS, the detailed evaluation of bids was completed and received by BAC Secretariat on 21 December 2018 resulted in the following based on the product demonstration:

Item No.	Description	QTY	Unit	Name of Bidder	Bid Price (As Calculated)	% Variance from ABC
24	Bone Decalcifier	30	liter	Jerr Marketing	8,900.00	2.20
61	Filter, Paper, 150 mm or 125 mm	1200	piece	Jerr Marketing	13.90	0.71
125	Sheep's blood, sterile, defibrinated, 100 ml/bottle	12	bottle	Jerr Marketing	1,000.00	0





JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., STA, CRUZ MANHA, 711-9491 loc. 245

WHEREAS, the bid proposals of Jerr Marketing were found to be substantially complying:

WHEREAS, upon careful examination, validation and verification of all the eligibility, technical and financial requirements submitted by the JERR MARKETING has been found to be responsive;

NOW, THEREFORE, We, the Members of the Hospital Bids and Awards Committee, hereby RESOLVE as it is hereby RESOLVED:

a) To declare JERR MARKETING as the Bidder with Lowest Calculated and Responsive Bid for the procurement of the following:

Item No.	Description	QTY	Unit	ABC/ unit (PhP)	TOTAL ABC	Bid Price (As Calculated)	% Variance from ABC	Total Amount (PhP)
87	Mannitol Salt Agar 500g / bottle granules or powder Offer: Granulated Merck / Germany	6	bottle	3,500.00	21,000.00	3,490.00	0.29	20,940.00
121	Salmonella Shigella Agar 500g/bottle powder or granules Offer: Granulated Merck / Germany	1	bottle	5,000.00	5,000.00	4,980.00	0.40	4,980.00
123	Sealer, Capillary Offer: Wax plates, Vitrex / Denmark	24	piece	150.00	3,600.00	145.00	3.33	3,480.00
146	Triple Sugar Iron 500g/bottle, crystal or powder Offer: Granulated Merck / Germany	ì	bottle	4,500.00	4,500.00	4,450.00	1.11	4,450.00
148	Trisulfate Citrate Bile Sucrose (TCBS) 500g powder or granules Offer: Granulated Merck / Germany	Y	bottle	6,000.00	6,000.00	5,950.00	0.83	5,950.00
161	Wright's-Giemsa 3x500ml., in kits with methanol as fixative. thiasine/methylene blue/ azure as basic dye, eosin as acidic dye, buffer solution Offer: Hemacolor staining kit, 3 x 500ml/kit, Merck/ Germany	36	kit	6,200.00	223,200.00	6,180.00	0.32	222,480.00
	E THE STATE OF THE			TOTAL				262,280.00

 To declare JERR MARKETING as the Bidder with Single Calculated and Responsive Bid for the procurement of the following:

Nch/farrah010310

Page 3 of 4 /Reso No. (103 s. 2019



JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., 5TA, CRUZ MANILA, 711-9491 loc. 245

ltem No.	Description	QTY	Unit	ABC/ unit (PhP)	TOTAL ABC	Bid Price (As Calculated)	% Variance from ABC	Total Amount (PhP)
24	Bone Decalcifier Offer: Osteomoll, 1 Li., Merck / Germany	30	liter	9,100.00	273,000.00	8,900.00	2.20	267,000.00
61	Filter, Paper, 150 mm or 125 mm Offer: 125 mm, 100 pcs/box; Whatman / US	1200	piece	14.00	16,800.00	13.90	0.71	16,680.00
125	Sheep's blood, sterile, defibrinated, 100 ml/bottle	12	bottle	1,000.00	12,000.00	1,000.00	0	12,000.00
				TOTAL				295,680.00\

- c) To award to JERR MARKETING the contract price of FIVE HUNDRED FIFTY SEVEN THOUSAND NINE HUNDRED SIXTY PESOS (P557,960.00) only for the procurement of above mentioned item;
- d) To recommend for approval by the <u>MEDICAL CENTER CHIEF II</u> of the JOSE R. REYES MEMORIAL MEDICAL CENTER the foregoing findings.

RESOLVED, this 4th day of January 2019, at JOSE R. REYES MEMORIAL MEDICAL CENTER, Santa Cruz, Manila.

Recommending Approval:

MELITO ANTONYO P. RAMOS, MD, FPOA

Chairperson

GERALDINE MENDOZA - FERNANDEZ

Vice-Chairperson

AMITI

- TEMPLO

EMELITA ASUNCION - UMALI, M.D.

Member

RYAN RAINIER D. SISCAR, D.M.D.

Member

Approved by:

EMMANDEL F. MONTAN

MD FPOS FACS, MH

Approved on

hch/farrand10319

Page 4 of 4 /Reso No. 100 3 5. 2019



Republic of the Philippines Department of Health JOSE R. REYES MEMORIAL MEDICAL CENTER HOSPITAL BIDS AND AWARDS COMMITTEE

RIZAL AVE., STA. CRUZ, MANILA 711-9491 local 245

PRICE LIST FOR VARIOUS LABORATORY SUPPLIES FOR CY 2019

JERR MARKETING

1948 Unit A, Tomas Mapua St.,

Sta. Cruz, Manila

Tel#: 253-3768/495-0902/254-0412

Item No.	Item Description	BRAND/COUNTRY OF ORIGIN	QTY.	UNIT	UNIT PRICE (PhP)
24	Bone Decalcifier Offer: Osteomoll, 1 Li.	Merck / Germany	30	liter	60.000,8
61	Filter, Paper, 150 mm or 125 mm Offer: 125mm, 100 pcs/box	Whatman / US	1200	piece	13.90
87	Mannitol Salt Agar 500g /bottle granules or powder Offer: Granulated	Merck / Germany	6	bottle	3,490.00
121	Salmonella Shigella Agar 500g/bottle powder or granules Offer: Granulated	Merck / Germany	1	hottle	4,980.00
123	Sealer, Capillary Offer: Wax plates	Vitrex / Denmark	24	piece	145.00
125	Sheep's blood, sterile, defibrinated, 100 ml/bottle	Local	12	bottle	1,000.00
146	Triple Sugar Iron 500g/bottle, crystal or powder Offer: Granulated	Merck / Germany	J	bottle	4,450.00
148	Trisulfate Citrate Bile Sucrose (TCBS) 500g powder or granules Offer: Granulated	Merck / Germany	1/	bottle	5,950.00
161	Wright's-Glemsa 3x500mL, in kits with methanol as fixative, thiasine/methylene blue/azure as basic dye, eosin as acidic dye, buffer solution Offer: Hemacolor staining kit, 3 x 500ml/kit	Merck / Germany	36	kit	6,180.00

Recommending Approval:

MELITO ANTONIO P. RAMOS, MD, FPOA

Chairperson, HBAC-A-1

Approved by:

EMMANUEL F.MONTAÑA, JR., MD, FPCS, FACS, MHA

Medical Center Chief II

ich/famah



6768 Ayala Avenue Makati City 1226 Philippines Tel (632) 8185541 to 48 BPI Express Phone 89-100 (632) 89-10000 www.bpiexpressonline.com

ANY BANK CUXKANTEE MENT

To:

MILESTE PR7898 00 (Mu 9.8/04)

JOSE R. REYES MEMORIAL MEDICAL CENTER

Rizal Avenue, Sta Cruz, Manila

Procurement of Various Laboratory Supplies

Gentlemen and/or Ladies:

In accordance with the payment provision included in the Special Conditions of Contract, which amends Clause 10 of the General Conditions of Contract to provide for advance payment, JERR MARKETING of Unit A, 1948 Tomas Mapua Street, Sta Cruz, Manila (hereinafter called the "Supplier") shall deposit with the PROCURING ENTITY a bank guarantee to guarantee its proper and faithful performance under the Clause of the Contract in an amount of TWENTY SEVEN THOUSAND EIGHT HUNDRED NINETY EIGHT PESOS ONLY (Php 27,898.00).

We, the Bank of the Philippine Islands (BPI), as instructed by the Supplier, agree unconditionally and irrevocably to guarantee as primary obligator and not as surety merely, the payment to the PROCURING ENTITY on its first claim to the Supplier, in the amount not exceeding TWENTY SEVEN THOUSAND EIGHT HUNDRED NINETY EIGHT PESOS ONLY (Php 27,898.00).

We further agree that no change or addition to or other modification of the terms of the Contract to be performed thereunder or of any of the Contract documents which may be made between the PROCURING ENTITY and the Supplier, shall in any way release us from any liability under this guarantee, and we hereby waive notice of any such change, addition, or modification.

This guarantee shall remain valid and in full effect from the date of the advance payment received by the Supplier under the Contract or until December 31, 2019.

Yours truly,

FTHE PHILIPPINE ICLANDS

BANK OF THE PHILIPPINE ISLANDS

Binondo Plaza Lorenzo Ruiz Branch Plaza Lorenzo Ruiz cor Reina Regente Street Binondo Manila 1006 January 16, 2019